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MODEL SET –  I I  

Zoology Model Question paper 2014 

Question 1 -10 of one marks each. Objective type question (Multiple choice - at least four 

choices) 

 

1. The ability of an organism to produce individuals similar to itself  is known as 

a) Oogenesis 

b) Reproduction 

c) Gametogenesis 

d) Gastrulation 

Ans. (b)  

vius tSls larhr ;k larku dks tUe nsus okys tho dks D;k dgrs gSa \ 
a) vaMtuu 

b) tuu 

c) ;qXedtuu 

d) xsLVªqys’ku 

 
2. Blood group A possesses  

a) Both A and B antigen 

b) Antibody A 

c) Antigen A 

d) Antibody B 

Ans. (d) 

fuEukafdr esa dkSu jDr lewg A esa ik;k tkrk gS \ 

a) jksxizfrdkjd ¼,UVhtu½ A vkSj B 

b) izfrj{kh ¼,UVhckWMh½ A  

c) jksxizfrdkjd A 

d) izfrj{kh B 

 

3. Morgan’s experiments were on  

a) House fly 

b) Fruit fly 

c) Sand fly 

d) Mosquito 

Ans. (b) 

 
 

Total Marks 35 All questions are compulsory 

 

Time 1½ hrs 

Total number of questions – 18 

 

  

01 (one) marks – 10 

 

02 (Two) marks – 03 

 

03 (Three) marks – 03 

 

05 (Five) marks – 02    
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ekWxZu us fdl dhV ij iz;ksx fd;k Fkk \ 
a) ?kjsyw eD[kh 
b) Qy eD[kh ¼MªkslksQhyk½ 
c) jsr eD[kh ¼lS.M QykbZ½ 
d) ePNj 

 

4. Bar body is found in  

a) Males 

b) Female 

c) Both male and female 

d) None of these 

Ans. (b) 

^ckj ckWMh^ fuEu esa ls fdlesa ik;k tkrk gS \ 
a) uj 

b) eknk  

c) nksuksa 
d) buesa ls dksbZ ugha 
 

5. Ozone layer is important as it prevents entry of   

a) White light 

b) Ultraviolet rays 

c) Infrared light 

d) None of the above 

Ans. (b) 

vkstksu vo{k; vko’;d gS D;w¡fd ;g fuEukafdr esa ls fdls vo’kksf"kr djrk gSa \ 
a) lQsn fdj.k 
b) ijkcSaxuh fdj.k 
c) vojDr ¼bUQzkjsM½ fdj.k 
d) buesa ls dksbZ ugha 
 
6. All the materials that brings undesirable changes in the environment is known as  

a) Pollutant 

b) Pollution 

c) Mutagen 

d) Mutant 

Ans. (a) 

vokaNuh; ifjoÙkZu mRiUu djusokys dkjdksa dks fuEufy[kr esa ls D;k dgrsa gSa \ 
a) iznw"kd  

b) iznw"k.k 
c) E;wVktsu 

d) mRifjorhZ ¼E;wVsUV½ 
7. In the ecosystem herbivores are 

a) Primary consumers 

b) Secondary consumers 

c) Tertiary consumers 

d) Autotrophs 

Ans. (a) 
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fdlh ifjfLFkfrdh esa 'kkdkgkjh tho fuEufyf[kr esa ls D;k gSa \ 
a) izkFkfed miHkksDrk 
b) f}rh;d miHkksDrk 
c) r`rh;d miHkksDrk 
d) mRiknd@Lo;aiks"kh 
 

8. Malarial parasite is example of  

a) Competition 

b) Parasitism 

c) Commensalism 

d) Mutualism 

Ans. (b) 

esysfj;k ijthoh fuEu esa ls fdldk mnkgj.k gS \ 
a) Li/kkZ  

b) ijthfork  

c) lgHkksftrk 
d) lgksidkfjrk 
 

9. ELISA is the diagnostic test of which of the following 

a) AIDS 

b) Cancer  

c) Malaria 

d) Diarrhea 

Ans. (a) 

fuEufyf[kr esa ls fdl chekjh ds fy;s ,ykbtk ijh{kd ELISA Test fd;k tkrk gS \ 
a) ,M~l 

b) dSalj 

c) eysfj;k 
d) Mk;fj;k 
 
10.  Bee keeping is called 

a) Apiculture 

b) Sericulture 

c) Aquaculture 

d) Lac culture 

Ans. (a) 

e/kqeD[kh ikyu fuEukafdr esa ls D;k dgykrk gS \ 
a) e/kqeD[kh ikyu 

b) js’ke ikyu 

c) ekRl;fd 

d) ykg ikyu 

 
Question no. 11 to 13 of 02 (two) marks 

iz'u la[;k 11&13 ds fy;s nks&nks vad fu/kkZfjr gSA  
11. Differentiate between menarche and menopause (1X2) 

jtksn'kZu vkSj jtksfuo`fÙk esa varj crk;sa \ 
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Ans. (a) First time menstruation at puberty in female is known as Menarch 

 izFke _rqL=ko@jtks/keZ dh 'kq:vkr ;kSoukjaHk ij gksrh gS] ftls jtksn’kZu dgrs 
gSaA  
         (b) At the age of 50 years the menstrual cycle stops in female, which is known as menopause.  

 L=h esa vkrZo pØ 50 o"kZ dh vk;q esa yxHkx can gks tkrk gS] bl fLFkfr dks 
jtksfuo`fr dgk tkrk gSA    

 

12. Write the names of enzymes or steps involved in the following DNA replication processes: 

Mh0,u0,0 izfrd`fr izfØ;k ds Øeksa ;k mlesa lfEefyr ,Utkbeksa dks fy[ksaA 
(½ X 4 = 2) 

(a) Opening of the DNA helix for replication is referred as 

izfrd`fr ds fy;s Mh0,u0,0 daqMfyuh ds [kqyus dks D;k dgrs gSa \ 
(b) 5’            3’ direction replication enzyme 

5^&3^ fn’kk esa izfrd`fr gksus esa mi;qDr ,Utkbe  
(c) DNA  fragment joining enzyme 

vlrr~ :i ls la’ysf"kr [k.M fdl ,Utkbe ls tqM+rs gSa \ 
(d) DNA replication origin point in E. coli is known as 

bZ0 dksykbZ ds Mh0,u0 esa dqN fuf’pr LFkku gksrs gSa tgk¡ ls izfrd`fr dh 'kq:vkr 
gksrh gS] mls D;k dgrs gSa \ 

 

Ans. (a) replication fork 

        (b) on the 3’         5’strand of the DNA replication is continuously syntheses in the 5’        3’ 

direction 

         (c)  Ligase is the DNA fragment joining enzyme 

         (d)  In E coli the DNA replication fork is known as ori. 

 

13. Where Leydig cells are found? What hormone does it secretes? (1+1 = 2) 

 

Ans. Leydig cells are found in the testes. It secretes androgen hormones 

fyfMx dksf’kdk;sa dgk¡ ik;h tkrh gSa vkSj blds }kjk L=for gksus okys gkeksZu dk uke 
crk;saA   

 

Question no. 14 to 16 is of 03 (marks) each. 

iz'u la[;k 14&16 ds fy;s rhu&rhu vad fu/kkZfjr gSA  
 

14. What is male heterogamety?  Give two examples of male heterogamety. (1+1+1=3) 

 

Ans. When a male produces two different types of gametes it is known as male heterogamety. 

Examples: XO – in Grasshoppers 

     XY – in human beings 

uj fo"ke;qXedrk D;k gS \ blds nks mnkgj.k nsaA   

Or vFkok 
(a) A study of fossils is known as _______________. (Evolution/ Paleontology) 

thok'e ds v/;;u dks ------------------------------------ dgrs gSaA ¼fodkl@iqjkthoh iSysvksaVksyksftdy½ 
(b) Give an example of homologous organs in animals 

thoksa esa letkr vaxksa dk mnkgj.k nsaA 

Ans. (a) A study of fossils is known aspaleontology. 
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        (b) Forelimbs of the vertebrates e.g. hand of man, fore limb of cat, flipper of whale and wings of bats 

are example of homologous organs. 

 

15. Match the column A with column B ½ X 6 = 3 

LrEHk ^v^ dks LrEHk ^c^ ds lkFk lgh feyku djsaA  
 

                      A                    B 

i Lactobacillus  a Swiss cheese 

ii Saccharomyces cerevisiae b Antibiotics 

iii Propionibacteriumsharmanii c Curd 

iv Penicilliumnotatum d Fermentation 

v Aspergillus E Cylosporin 

vi Trichodermapolysporum f Organic acid  

 

 LrEHk ^v^  LrEHk ^c^ 
i ySDVkscSflyl a fLol pht 
ii lSdjksekblht lSjhchlh b ,saVhckW;ksfVd 
iii izksfivksfucSDVhfj;e 'kkjeSukbZ c ngh 
iv iSuhlhfy;e uksVsVe d fd.ou 
v ,Lijftyl E lkbDyksLiksfju 
vi VªkbdksMekZ ikWyksLiksje f vkWxsZfud ,flM 

Ans. 

 

                      A                    B 

i Lactobacillus  a Curd 

ii Saccharomyces cerevisiae b Fermentation 

iii Propionibacteriumsharmanii c Swiss cheese 

iv Penicilliumnotatum d Antibiotics 

v Aspergillus e Organic acid 

vi Trichodermapolysporum f Cyclosporin 

 

 

16. Fill in the blanks by choosing the correct words provided in the brackets to complete the 

ecological process. (1+1+1=3) 

Important steps involved in the process of decomposition are ______________, leaching, 

_________, humification and ____________. (catabolism, mineralization, fragmentation). 

Ans. Fragmentation, catabolism and mineralization 

ikfjfLFkfr izfØ;k dks iw.kZ djus ds fy;s dks"Bd ls lgh 'kCnksa dk p;u dj fjDr LFkkuksa 
dks HkjsA  
 vi?kVu dh izfØ;k ds egRoiw.kZ pj.k ------------------------------ fuNkyu ¼yhfpax½] ----------------] 
g;wehfQds’ku vkSj ----------------------------- gSA  
¼vip; ¼dsVkckWfyTe½] [kfuthdj.k] fo[k.Mu½  
 

Or 

(a) George Gamow suggested that genetic code is made up of ________ nucleotides. (2/3/4) 
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tktZ xseks ds fopkj&vuqlkj vehuksa vEy dk dwVys[ku ¼tsusfVd dksM½ ---------- 
U;wfDy;ksVkbM dk cuk gksrk gSA ¼2@3@4½ 
(b) The total no. codons for amino acids is _________out of which ________codons do not 

code for any amino acids. (61 and 3, 64 and 2, 62 and 2) 

vehuksa vEy ds fy;s lEiw.kZ izdwV ¼dksMksu½ dh la[;k --------------- gS ftlesa vehuksa 
vEy ds -------------------- izdwV dwV ys[ku ¼tsusfVd dksM½ ugha djrs gSaA ¼61 vkSj 3] 64 
vkSj 2] 62 vksj 2½ 

 

Ans. (a) George Gamow suggested that genetic code is made up of three (03) nucleotides. 

    (b) The total no. codons for amino acids is 61 out of which 03codons do not code for any amino 

acids. 

 

Question no. 17and 18 are of 05 (marks) each. 

iz'u la[;k 17&18 ds fy;s ik¡p&ik¡p vad fu/kkZfjr gSA  
 

17. Divergent evolution is strong evidence in the support of organic evolution which can be 

observed in the nature, explain. Give an example of divergent evolution. (3+2) 

izd`fr esa vilkjh fodkl dkcZfud fodkl dks lefFkZr djrk gS] blds n`<+ izek.k feyrs gS] 
le>k;saA vilkjh fodkl ds mnkgj.k nsaA  

Ans. Divergent evolution support common ancestry of the organisms, which can be observed 

while observing the morphology and anatomy of the animals. (3 marks) 

The pattern of bones of forelimbs of whales, bats, cat and human (all mammals) is a good 

example of divergent evolution. (2 marks)  

Or 

(a) Complete the equation given below (1 marks) 

            p
2
+________+q

2
 = 1 

uhps fn;s x;s lehdj.k dks iw.kZ djsaA 

            p
2
+________+q

2
 = 1 

(b) in the above equation p & q stands for _________&___________. (dominant / recessive 

alleles; recessive/dominant alleles) – (2 marks) 

mijksDr lehdj.k esa p vkSj q dk rkRi;Z ------------------ vkSj ---------------------------- gSA 
¼MksfeusaV@fjlsfle½ vyhy% fjlsflHk@MksfeusaV vyhy½   

(c) The original drifted population becomes ____________and the effect is called ________ 

(founder/founders; founders/founder). 
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ekSfyd viokg lef"V ---------------------------- cu tkrh gS vkSj bl izHkko dks --------------------- dgk 
tkrk gSA ¼laLFkkid@laLFkkid izokg % laLFkkid izokg@laLFkkid½ 

Ans. (a) 2pq 

 (b) ‘p’ stands for all dominant alleles and ‘q’ stands for all the recessive alleles present in the 

gene pool 

(c) the original drifted population is founders and the effect is known as founder effect. 

 

18.  (a) Name all the three different types of RNAs found in bacteria. (1½ marks) 

thok.kq ¼cSDVhfj;k½ esa ik;s tkus okys rhu izdkj ds vkj0,u0,0 dk uke crk;saA  
 (b) Describe the functions of all the three RNAs. (3½ Marks) 

vkj0,u0,0 ds rhuksa izdkj ds dk;ksaZ dh O;k[;k djsaA  

Ans. (a) rRNA (ribosomal RNA), tRNA (transfer RNA), mRNA (messenger RNA) 

(b) rRNA – plays structural (part of ribosome) and catalytic role during translation 

      tRNA – brings aminoacids and reads genetic code  

            mRNA – provides the template for translation 

Or vFkok  

(a) What is pathogen? (1 marks) 

jksxtud ¼iSFkkstu½ D;k gS \ 

(b) Name two helminthes pathogenic to human beings (2 marks) 

ekuoksa esa gsfyfeufFkl }kjk gksus okys nks jksxtud dk uke fy[ksaA  

(c) Give the scientific names of the protozoa causing dysentery and malaria. (2 marks) 

ml izksVkstksvk dk oSKkfud uke crk;sa] ftlls vehch vfrlkj vkSj eysfj;k gksrk gSA  

 

Good Luck 


